xy o 4 P,Qoll tisl P+ QE A4tstd, &2 e+ (Q)
o], A49] T2 (©) °lth. @, ©° O*El% —‘%i}i'ﬂi% Mzt

P = 5x%y + 2y? + 223
Q = x% - 3y% + 2xy?




b(x+ 1)+ cx? = 3x - 17} BE x 9] ghof| gj5}o]
S5 a, b, ol Hstel % 459 g Fota?

® =5 B —4 @ _9 G -1



3. (Btax+2)(x®+bx+2)E ANFAS ©, 2 B3 AFE RF0
o] A Sh= 44 a, boll st a+ b 2] F2?

® -2 @ -1 ®1 @ 2 ®

N | Qo



a® — a®b + ab® + ac? — b® — bc? 9] QA42l ALY

@ a-b? ® a®-b>+ 2

2 ® a? +b% -2



5.

oha Al thekAf ol A Hdlgef-E F-sha?

2x2—-3x+1, 3x2-x-2, x2+3x—-4
@X—]_ @2X-1 @x_2
@ x+3 ® x+1




6. FOIMA BAHITA+B=-x>-2x> +4x+5,2A-B =

FUTA
4x* —x? —x+1 4 o, 7 o34 A, B E F5HH?
D A=x34+x>+x+2, B=-2x3-3x2+3x+3
@ A=x*-x2+x+2 B=-2x*-x2+3x+3
@ A=x>-x24+x-2, B=-203-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3

® A=3x3-3x24+3x4+6, B=-4x3+ x>+ x-1



A ¥ fax® +bx+c B x+ 22 WFHE 30l HaL, ¥ 12 U H
golzitt. o] W), abe o] Fh& 5HH?

e =
c



=

)=x2+x-2,g(x) =2x*+3x-2, h(x) = x>+ mx+8
oFp7h x o AAA A wf, m O] S F-shofzt.
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9. 216
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T} 10401 9] o] £ 52 Liroj ol ), o] f, o] %

o
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1°Ke)
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1
9

mol'

@ 4 @ 6 3 8 @ 10 3 12



x2

—3x+22 U= 30] J11, x2 —4x+ 302 U= 0f

—~

x)E x? - 5x+ 622 U= o, Yz S L5HH?

@ 6x-2 ® 6x-3

3B 6x-9



